sin?5 x + cos”5 x = 1 pewmnTb pasnoxus no a5 + b5 =...
f(a)=a"5+b"5

a=-b

aenutca Ha (a-kopeHb)=a-(-b)=a+b
a’"5+0a*4+0a”*3+0a”2+0a+b” 5|a+b

a’5+a™b |a*4 -a*3b + a*2b”2-ab*3+b™M
-at4b+0a”3
-at4b+-a*3b"2
a’3b”*2+0a”"2
a’3b”2 +a*2b”*3
- a*2b”*3+0a
-a*2b”3-ab”4
ab”*4+b”5
ab”*4+b”5
0
a’5+br5=(a+b)(a”4 -a*3b + a*2b”2-ab”*3+b"4)
(sin x +cos x)(sin™4 x - + sin2 x cos”2 x - + cos™4 x)=1
(sin x +cos x)(sin4 x - + 2sin?2 x cos”2 x - sin®2 x cos”*2 x + cos™4 x)=1
(sin x +cos x)(1- - sin?2 x cos™2 x)=1
3AMEHA
sinx+cosx=t =>  sin®2 x+ 2sinxcosx + cos™2 x =t"2 => sinx*cosx =(1"2-1)/2

t(1-(t"2-1)/2-(t*2-1)"2/4)=1

t - (t"3-t)/2-(t"3-t)*2/4 =1

4t - 2(t"3-1)-t(1"2-1)"2 =4

4t - 273 +2t - {(tM4-2t72 +1) = 4
4t - 2t"3 +2t - t"5+2t"3 -t-4=0
-tA5 +5t -4=0

tA5 -5t +4=0

tA4+A3+t72+1-4=0

t=1

tA3+2t42+3t+4=0

KOpeHb MeHbLue y= -V2 sin(x+P/4)=y/NV2 <-1 pelueHun HeT

sinx+cosx =1
V2sin(x+P/4)=1
sin(x+P/4)=V2/2
x+P/4=P/4+2Pk
x=2Pk

x+P/4=3P/4+2Pk
x=P/2+2Pk

sin?2003 x + cos™2003 x =1
sinx=0 cosx=1
x=2Pk  x=2Pk

sinx=1 cosx=0
x=P/2+2Pk x=P/2+2Pk

sin?*2 x + cos™2 x =1
sinx=(-1;1)\{0}
cosx=(-1;1)\{0}

sin*2003 x + cos2003 x < 1




